H B B #H

BAf A . CEARSI4E 3AL1TH (H) BE D MY — BB
B . RIS BN SIA (B : 6T A - &k : 140)
HDCP LR : 36
2= OUT IN 1/ 2
FNEALRE © e A UNEWIE) - i (K& WIE) FIRI : SERR314E 3H17H (H)
JIE 57 BN 4 oUT IN GROSS | HDCP NET it &
1 A7 | Kl g 3—k 44 43 87 23.0 64.0 | EH Y
2 7 |JiH B 45 49 94 | 25.0 | 69.0 HAY
30| F#F— 50 47 97 | 25.0 72.0 |EAY
4 fir [{EE RBK 46 47 93 | 20.0 73.0 |EAY
5 L |10 K’k 48 47 95 22.0 73.0 |HEAY
6 N7 | B KAy 49 51 100 | 27.0 | 73.0 |EAY
T AL | ARAT == T 56 46 102 | 29.0 73.0 |HAY
8 N | ML & 47 45 92 18.0 74.0
9 {7 |5 w5k 45 49 94 20. 0 74.0
10 o7 | il =i 50 45 95 21.0 74.0
11 A7 |l fn1 51 46 97 23.0 74.0
12 A7 [1hh 3% 46 48 94 19.0 75.0
13 7 |AiH gk 46 50 96 21.0 75.0
14 7 [ &3 51 49 100 25.0 75.0
15 {if | AR Bi1 52 49 101 26. 0 75.0
16 N7 |#Er ik 49 46 95 19.0 76.0
17 A7 | /AR Se2 53 52 105 29.0 76.0
18 fir | FEHE 72 49 57 106 30.0 76.0
19 fif | B F#A 50 50 100 23.0 77.0
20 iz | TH #A 50 55 105 28.0 77.0
21 {7 | s e 54 53 107 30. 0 77.0
22 fif |HH H— 57 56 113 36. 0 77.0
23 {7 | L H [l 50 49 99 21.0 78.0
24 L | AFS FE— 53 48 101 23.0 78.0
25 {if | R == 48 54 102 24.0 78.0
26 A7 | (L E #—ER 53 51 104 26. 0 78.0
27 i | P WS 55 52 107 29.0 78.0
28 i, | S1EH 54 46 100 21.0 79.0
29 7 |ATH EF 55 51 106 27.0 79.0
30 7 | [ &F 57 57 114 35.0 79.0
31 AL | H 2 58 51 109 29.0 80.0
32 L | 5&E HERR 55 57 112 32.0 80.0
33 fif | /NI FiE 54 46 100 19.0 81.0
34 i1 | /NME W 50 53 103 22.0 81.0
35 /7 | =% BE 53 54 107 26. 0 81.0
36 /7 | =% —i# 51 50 101 19.0 82.0
37 fiL | AR BEH 53 50 103 21.0 82.0
38 fi7 | fEA 1E 49 54 103 21.0 82.0
39 fir | =4 fEsh 48 55 103 21.0 82.0
40 N7 | ERIRE 1 51 56 107 25.0 82.0
41 {7 |3t B’BE 53 54 107 25. 0 82.0
42 fir |1 B— 53 51 104 21.0 83.0
43 A | Al BEH - 57 59 116 33.0 83.0
44 v | W] EE#E 64 52 116 33.0 83.0
45 fr | ARFf — 50 53 103 19.0 84.0
46 7 | P58 HE T 57 48 105 21.0 84.0
47 {7 | PR SEIR 51 54 105 21.0 84.0
0 0

48 7 | FKH % 54 53 107 23. 84.




H B B #H

BAf A . CEARSI4E 3AL1TH (H) BE D MY — BB
B . RIS BN SIA (B : 6T A - &k : 140)
HDCP LR : 36
2= OUT IN 2/ 2
FNEALRE © e A UNEWIE) - i (K& WIE) FIRI : SERR314E 3H17H (H)

JIE 57 BN 4 oUT IN GROSS | HDCP NET 1t 3%

49 7 | BRI =R 54 59 113 29.0 84.0

50 fir. | KFE H 7z 48 60 108 23.0 85.0

51 fif | #AJH HEC 51 58 109 24.0 85.0

52 i | &l 2ol 59 51 110 25.0 85.0

53 i | PHH FH 53 58 111 26. 0 85.0

54 N[ | A ZZ2KBER 57 55 112 27.0 85.0

55 fr | &I Bk 57 57 114 | 29.0 85. 0

56 1. | %% 5LZE 57 58 115 30.0 85.0

57 fif |31 W2 62 58 120 35.0 85.0

58 L | {52 54 51 105 19.0 86. 0

59 fif | VR HE 58 59 117 31.0 86.0

60 fiz |BfA &z 54 54 108 21.0 87.0

61 fir | Ki% &1 63 60 123 36.0 87.0

62 {7 [ /NI 4 3C 59 52 111 23.0 88.0

63 A | FHES AT 57 56 113 25.0 88.0

64 fir |BEYs HEh3E 59 56 115 27.0 88.0

65 7 | =1L Bz 56 61 117 29.0 88.0

66 1\ | ILE 56 52 108 19.0 89.0

67 {7 | # AT 57 57 114 24.0 90.0

68 N7 | AT A 47 65 112 21.0 91.0

69 A7 | fiv 64 57 121 30.0 91.0

70 2 | BPH BA 59 55 114 22.0 92.0

71 AL | B 67 60 127 35.0 92.0

2 AL A ERT 64 64 128 36. 0 92.0

73 {7 | BERS — B 59 54 113 20. 0 93.0

74 L | NH 3CF 67 62 129 36.0 93.0

75 L | A gElid 56 64 120 26. 0 94. 0

76 fiL | {AIA S 57 63 120 25.0 95.0

7 AL B & 56 68 124 | 29.0 95.0

78 /L | EH 59 72 131 36.0 95.0

79 | E KR 54 69 123 27.0 96. 0

80 fif |FdSc T 59 57 116 19.0 97.0

N R |HH &S 38 37 75 18.0 57.0




